One way ANOVA for educational level.

Descriptives

dep 

	 
	N
	Mean
	Std. Deviation
	Std. Error
	95% Confidence Interval for Mean
	Minimum
	Maximum

	 
	
	
	
	
	
	
	Lower Bound

	high school
	63
	3.7317
	.48330
	.06089
	3.6100
	3.8534
	2.38
	4.90

	Diploma
	127
	3.5891
	.44541
	.03952
	3.5108
	3.6673
	2.00
	4.67

	Bachelor Degree
	290
	3.5089
	.64324
	.03777
	3.4345
	3.5832
	1.00
	5.00

	Higher Diploma
	19
	3.6767
	.65649
	.15061
	3.3603
	3.9931
	2.57
	4.62

	Master
	29
	3.6338
	.64469
	.11972
	3.3886
	3.8791
	2.57
	5.00

	Phd
	13
	3.4469
	.53152
	.14742
	3.1257
	3.7681
	2.57
	4.52

	Total
	541
	3.5647
	.58552
	.02517
	3.5153
	3.6142
	1.00
	5.00



Test of Homogeneity of Variances

dep 

	Levene Statistic
	df1
	df2
	Sig.

	5.533
	5
	535
	.000


We have violated the assumption since Levene’s test value is less than .05. Because the assumption of the homogeneity of variance is violated, we use the Robust Test of Equality of Means table.

ANOVA

dep 

	 
	Sum of Squares
	df
	Mean Square
	F
	Sig.

	Between Groups
	3.293
	5
	.659
	1.938
	.086

	Within Groups
	181.839
	535
	.340
	 
	 

	Total
	185.132
	540
	 
	 
	 




Robust Tests of Equality of Means

dep 

	 
	Statistic(a)
	df1
	df2
	Sig.

	Welch
	2.157
	5
	64.484
	.070

	Brown-Forsythe
	2.014
	5
	119.002
	.082


a  Asymptotically F distributed.

The walch test as well as Brown-Forsyth indicated that there was no significant different between the six groups. 
Brother, you can present the summary the same way I showed you in the previous file. 

